@, %=U+C
dt
dx
_I—=u-
dt
dx

1
2
2-1
@_i_u@ 5@=V95Eu (1)
ot OX OX
2
@ uau_i_A'Ogag:_E(l_uiju_Ti:G (2)
ot OX ps  OX o po
oAp ., OBp _ APV, (€))
ot 1) o
) (=6,+0,) u
A E=v,/u Y
Ps Ap=ps—p 9
u, T, €9
2 Massau
C = (8pgs/p)? o C

du+2C) . Ap V. )

dt ng
du-2) 5 Ap Ve (5
dt p C
d(ap) __Apve (6)
dt 5

v
Ps
| Ap |
| | |
|

Q cc/s B cm Hd cm |Ap g/cm’
RUN 3 50 0.007342
RUN 4 50 125 1 0.036912
RUN 5 100 ' 0.007342
RUN 6 100 0.036912
RUN 12 50 0.036912
RUN 13 100 125 2 0.007342
RUN 14 100 ' 0.036912
RUN 16 200 0.036912
RUN 20 50 0.036912
RUN 21 100 0.007342
RUN 22 100 125 5 0.036912
RUN 23 200 0.007342
RUN 24 200 0.036912
- @ G

(6)
o
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